20415220241 InStallation

Evans Motorsport Performance Rear Diffusers are Made in USA From 1/8” aluminum and powder coated matte black.
Visit www.EMP.parts and go to the Mustang Rear Diffuser page to view installation video.

Tools Needed: Assembly Hardware Provided:

Phillips Screwdriver and/or 12 - 10-32 1/2" Stainless Steel Black Screws
Power Drill/Driver with Phillips Bit 6 - 10-32 3/4” Stainless Steel Black Screws
7mm Socket or Wrench 18 - 10-32 Stainless Steel Black Hex Nuts
3/8” and 1/4” Socket or Wrench 18 - #10 Stainless Steel Lock Washers

1/8” Drive Bit 12 - Stainless Steel Black Angle Braces

Thread Locker (recommended)
1. Place vehicle in park with parking brake on and chock tires. Double check everything and surroundings to be sure all is safe before starting installation.

2. Inseit 1!2”Biack Screw into hole shown through top of support plate 3§ Repeatiforanext holelshown:
thenlplace a'ng Eibrace over screw then black lock washer and hex -
nutdEavernat aose Can add thread locker to all screws if desired.

Angle
Brace @
Lock
1/2" \Washer Hex Nut
Screw
& 314
Screw

Iscréwafrom side shown then place lock washer on screw then

large blade intoSlothwhile holding/angle briaces in place. -
i IVatighte thls'xscrew with 1/8” bit and 3/8” wrench. Check that
Strial tight

sure holelin bladelisfenfsame side angle braces

‘ | NOTE:

1 All center
section
blades are
the same
size for
2015-17
models

cdmmiblade in outer slot then repeat on the 7. Repeat process for small single side bladesgMake surethey
installed. Double check that all mlrrored freméach other when assemble

You are now ready to move on to installation. Be sure vehicle is on a flat
surface, in park (auto), emergency brake is on and chocks are put under
tires to keep from rolling.

plexisting bolts in center of stock diffuser Seisection under car, and]align

ciews that\were just removed.

o ' @m@h@ﬁu&w Efcmﬁ I want the
s : - iFire g@ Silvedserews]with 1/4” wrench
gfoaet ug?{bg % _ i i landlat Bﬂg ldistance from the car
LLQC@I@ etting FlEe : y X

Perform installation at your own risk. We are not responsible for
damage to parts or vehicles or injury to persons during installation
and/or use of these rear diffusers. Automatic car wash not recom-
mended. Always hand wash car after diffuser is installed.



M g EMIP [R Installation

: ' NOTE For 2015-17 : and h'a'nl !tighten all mﬁlﬁntmgscrews being careful to not
@@@m [ME!@@@[@ model add a screw in the igh. i (diffiser. Periodically
does [ﬁ@ﬂ ID@ ﬁﬂf@ﬂ]é} center hole under i screw ﬁ@@ﬁmjﬁgy remain tight.

mountmg SCIEWSIhalSe reverse light (optional on
diffisegdtbladeSRINSErEW] per {@r‘ﬂ@uﬂ? 2018+ due to larger gap).
. Do not over tighten
screws. You could strip
out the plastic in the
stock diffuser. If this
' happens, obtain a larger
#12 stainless steel screw.

Center section done.
Now on to the outer
' side blades.

18 ﬂ}l‘fiﬁ [t;*)@iﬂ]] inftie) YU desire, then

fcanlineltp) with edgesEiTE
thaEiﬂ ﬁ@m@uﬂh@n reargserew Iasly the center screw.

orbelfurthertolre: _'of ca lld

18, Han nfalllsSideblade mm s:;@?@a@, BEYSUire to not over
“ stiip'out’sidejrockedplasticy ih!ﬂ] side blade
;@@ﬁ@.’f ether Side blade_

Place 1 SC}EW in eaciﬁ stock blade

Periodically check all screws to ensure they remain tight. ONLY TIGHTEN AGAIN IF LOOSE. Do not over
tighten when installing screws into stock diffuser. If screw strips out of plastic, use a larger screw or a bolt and
nut and do not drive with diffuser installed until fixed. EMP is not responsible for products beyond initial
quality and condition due to conditions, installation quality and other factors beyond our control.

DONE! Check out our other premium parts and continue raising the bar.




2011522024 Installation

e/




